INTR B No.1 7% - X&LEA BADOFRELEHMSTAEN)
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1 koXzERHYE L,
1) (x—5)°

2 (x+2y)°

(3) (2a+3b)*

2. KOXEERE L,
1) Gx+1)(9x2—3x+1)

(2) (7Tx—4)(49x%+ 28x+16)

(8) (5x—3y)(25x2+15xy+9y?)
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1
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(2)

(3)

(1
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(3)

(x—5)*=x*—-3-x2.5+3+x-52-5°
=x°—15x%+T5x — 125

(x+2y)°=x3+3 a2 2y+3 -2 (29)*+(2y)°
=x%+6x%y+12xy%+ 8y3

(2a+30)*=(2a)*+3+(2a)?-3b+3+2a-(3b)*+(3b)*
=8a’+36a’+54ab?*+27b?

Bx+1DO9x2=3x+1)=0Cx+D{Bx)*—3x-1+1%
=(3x)*+1°
=27x*+1

(Tx —4)(49x% 4 28x +16) = (Tx — A){(Tx) 2+ Tx - 4+ 4%
=(Tx)*—4*
=343x°—64

(52 — 3v) (25424 15xy 4+ 9y?) = (5x — 3y){(5x) 2 +5x « 3y + (3v) 4}
= (52)°— (3y)*
=125x%—27y?
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